BORILLA oPORTS

Adjustable Long Bar Rack (10000785)




SHOORILLA SPORTS

Bolt: (M10%70) Pin
: (I @ oJ
4x Ix
Washer: (¢10) Nut M10 Quick Pin
© 2
NN
8x 4x 4x

Spanner

ChdNel




BORILLA GPORTS

\ ™
d Lo &=
4 > S
D)
e
(@)
(@N
// 1
' =)
\ qu}
\ (@)
\ 1
N\ © o o o o o Ml/O v » ° S o
7

Load 250 KG

Load 200 KG

A\

\)




- o | @

Bolt M10%70 2PCS Nut M10 2PCS o

©

Washer M10 4PCS ) S




o g o o o o o o

%
Pin 2PCS




Quick Pin 4PCS %\L
N




